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1 ik 2 ik SEEC 8 K4y 4 2 i SEEC T kG
af | AIE | BE B % BAL | EH | W aif | AE B k4 HAL | B s
1 2 |EvIRR 2:38.4 | 480 | 229 @] 1 RIEAXLEY 2:55.8 | 480 | 255
2 8 |V IR 2:59.8 | 480 | 185 O 2 R7EATTA 3:21.9 | 480 | 259
3 6 |hrEAEREs 3:04.0 | 480 | 264 @] 3 D CVNZ 3:25.2 | 480 | 136
4 4 |\FHTTTAL— 3:16.5 | 480 | 180 (@] 4 JxAIvY 3:40.9 | 480 | 143
5 5 |TA TH 3:17.7 | 480 41 @] 5 TN—AHA 4:04.6 | 460 | 243
6 3 | ReVaIFHT 3:43.0 | 460 | 211 Tk Yoz )Ry 460 | 321
ik | 1 MY ART— 480 | 198 ik S ATIT 460 | 123
k| 7 ewrTY 460 | 227 Jirdl] INFIAF 460 | 216
2 ik 2 54 AL T K4y %5 2 ik AL 7T K4y
A | HE | 5HE 5 % AL | E R wEE B | AE )ist 4 AN |E | waEs
1 8 |nAX 2:27.7 | 460 | 324 (@] 1 VIR 2:54.2 | 480 | 188
2 5 |=vFx—x 2:35.3 | 480 | 209 (@] 2 VxR — 2:55.2 | 480 | 139
3 7 |ma=vrg—r 2:36.0 | 460 94 (@] 3 RIEA N — 3:23.7 | 480 | 268
4 2 |RreAIVE Y 2:40.7 | 480 | 256 (@] 4 b4 3:28.0 | 480 54
5 4 |by—UA 3:37.5 | 480 | 332 5 TIVTA 4:30.4 | 460 11
ik | 1 [Fhes 460 | 120 ik T )X =T A 480 43
fik | 3 |RyFrIvsay 480 | 197 Hk VxAYT 460 | 131
I | 6 |\ 7=—7 480 | 219 T T4 NI 480 34
3wk 2 i 6 Koy 6 2 i SEE 4 Ky
B | HIE | EE 5 E4 AL | HE | W HE | HIE )5} % AL |HE | W
1 7T e UNTRS 2:43.8 | 480 | 165 (@] 1 T— IV RZHA 2:55.7 | 480 | 328
2 4 |z R 3:12.9 | 480 | 134 (@] 2 EANE A~ A — 3:14.9 | 480 | 226
3 2 |\FETY 3:47.0 | 480 80 (@] 3 SRIFRY 3:25.2 | 460 | 146
4 8 [IAT A —TN— 3:49.7 | 460 | 295 4 ISR — 4:20.2 | 480 | 279
k| 3 [ ZURZLT —2A 460 78 i ZAT 480 166
ik | 5 | EAVaThyF 480 | 160 1 JxAH =L 460 | 127
Bl | 1 |Zans—hb 480 33 L] YEL—Va 460 | 297
I | 6 |[Yxid Az 460 36 i DEXOY/id 480 132
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FHIE | 5% B % BAL|E OB wEE (5 A | B | % B % BAL | H OB mEES (5
1 8 |=YHESY R 2:53.3 | 460 | 281 @] 1 FRRE T VS E DN 2:42.3 | 480 65
2 6 |T=ARA 3:03.9 480 141 O 2 T |AFIT R 2:57.7 480 158

3 4 |hYsaay 3:22.9 | 480 | 182 @] 3 1 |[PzAfw—— 3:03.6 | 480 | 142| R
ik | 1 |YeA547 480 | 144 @] 4 8 |ZURINAT— 3:22.2 | 480 76
ik | 2 |FAFvHT 480 | 312 @] 5 5 |[VaAfxsbL 3:37.9 | 460 | 125
ik | 3 |avvanvrRy 480 87 Fik | 2 |P=AFUA 480 | 126
ik | 5 |[FAFURY 480 | 167 Fik | 6 |TAAVUREY 460 19
ik |7 | FEAY BRI 460 66 B | 4 |InNTFIvEversg 460 | 214
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A | HIE | EE % % SAL | R meEs| 5 aE | HIE | BE B % SAL | EH | mEEs| (5
1 4 |avantiy 3:46.8 | 480 84 (@] 1 T \RIRAB BT 2:58.4 | 480 | 267
2 1 [Fyrre—m— 3:46.8 | 480 | 196 (@] 2 3 |AUIA 3:27.6 | 460 | 250
3 5 |FHE Y 3:51.1 | 480 | 205 (@] 3 8 |y 3:30.8 | 480 52
Pk |3 |Yav s H vt — 480 | 322 @) 4 1 A7 — 3:36.4 | 480 24
ik | 6 VAT 460 | 183 5 2 |PTAT— 4:31.2 | 480 | 107
ik | 8 |kwr 460 | 275 6 1 |¥EYIT 4:44.7 | 480 63
B | 2 |Avhrkexs 480 23 7 6 |A—Tyrst— 4:50.7 | 460 47
o | 7 | THrTaT® 480 13 k| 5 |wyZAR= 460 | 282
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1 2 |Brvavxe s 2:39.2 | 480 | 163 (@] 1 2 |FEHTT N —R 2:15.4 | 460 | 176
2 8 | YHITILAA 2:39.9 | 460 | 115| R O 2 6 |YeHLY—T 2:41.5 | 460 | 303
3 3 WU ITTAYT 2:44.0 | 460 61 (@] 3 8 |hrtAasAaY 2:43.1 | 480 | 266
4 1 |v~84% 2:54.4 | 480 | 306 (@] 4 5 |~=¥/m—h 3:06.7 | 480 | 278
5 4 |PvrR 3:26.0 | 460 | 148 (@] 5 3 | TFIEAFE 4:02.6 | 480 | 239
6 6 |VxAFAY 3:40.1 | 480 | 135| MR ik | 4 |FAYITFRT 460 | 168
ik | 7 3 460 | 296 Fik | 7T |\PaAr—H 480 | 128
B | 5 |[YV=AP77Y 480 | 130 k| 9 |wmA 480 | 293
B | 1 |(FATXRTE N 480 | 177
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& | HIE | BE % HAL | HE k| wE] (55
O 1 5 |[ZALrhxz—2 2:53.4 | 480 172
O 2 8 |nTrav 3:55.4 | 460 | 215 iR
3 1 |[7AxFA 4:38.6 | 460 8
4 6 |FAVESRYT 5:08.4 | 480 170
5 3 |z 5:23.5 | 460 | 273
ik | 2 |AAYFER 460 48
ik | 4 |[FRriavod 480 | 253
a1 I A P e 480 | 261
W14 gk 2 ik SEk 8 KAy 0.5%
G | AE | BE b5 AL | EOR|maEn|  (FE
O 1 4 |AT%EYh 2:42.0 | 480 27
o 9 6 | ~IdrEa= -2 3:20.2 | 460 | 213
O 3 2 |IRF—FF IR 3:22.0 | 480 | 294
@) 4 3 |~ ITT 4 3:47.4 | 480 | 304
5 1 |[fu7xr83 4:09.3 | 460 32
ik | 5 |maEHT 480 40
ik | 7 |hakes 480 | 331
ik | 8 |TrmAfr ok 460 | 333
% 15 Bk 2 % B 7T KGy  0.5%
BE | EE | EE 5 % HAN | R maEs| (B
@) 1 7 |FAUTATTA 2:08.4 | 480 69
O 2 2 |ReALATT— 3:15.5 | 480 | 265
@) 3 3 | FHEAYT 3:17.2 | 480 | 206
O 4 6 |EYPITTIVL 3:37.7 | 460 | 161
5 4 |\RrvavF AR 4:31.8 | 460 | 252
ik | 1 |[HrILyS 480 | 118
ik | 5 |wv I TATY 460 | 283
Bl | 8 |YV=A—F 460 137




